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Nanyang Primary School
Primary 3
Mathematics
Term 1 Weighted Assessment

Class: Primary 3 ( ) /20
Date: Parent’s Signature:

Duration: 40 minutes

Please sign and return the paper the next day. Any queries should
be raised at the same time when returning paper.

Questions 1 to 3 carry 2 marks each. For each guestion, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4)
and write your answer (1, 2, 3 or 4) in the bracket ( ) provided.

(6 marks)

1. What is the difference between 748 and 85277

(1) 9275
(2) 8221
(3) 7779
(4) 1047
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Arrange the following numbers in increasing order.

[ 3164 3601 3146 J

(1) 3601, 3164, 3146
(2) 3601, 3146, 3164
(3) 3164, 3146, 3601

(4) 3146, 3164, 3601

Sasha spent $250 at ABC departmental store.

She bought a microwave oven, some mugs and some plates.
She bought fewer plates than mugs.

How many plates did she buy?

Microwave Oven Mug Plate
(1 5
2y 2
3 6
4 10



15

Questions 4 to 8 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (10 marks)

4, (a) Write five thousand and sixty-five in numerals.

Ans: (a)

(b) Use all the digits to form the smallest 4-digit odd number.

gann

Ans: (b)

5. Study the number pattern carefully.
What is the missing number?

943, 1043, , 1243, 1343, 1443

Ans:
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6. A shirt costs $42.
A cap costs $19.40 less than the shirt.
How much does the cap cost?
Ans: $
7. An adult ticket to a theme park costs $25.50.

A child ticket costs $11.20.
How much does a family of 2 adults and 1 child pay?

Ans: §
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Ali, Bala, Chang and Dayi went to the zoo.

All of them wanted 1o ride on a pony but the pony could only take
2 of them at a time.

How many different ways could they pair up for the ride?

Ans:
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For question 9, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at
the end of each question or part-question. (4 marks)

9. The difference between two numbers is 625.
The greater number is 714.

(a) What is the smaller number?

Ans: (a) 2]

(b) What is the sum of the two numbers?

Ans: (b) [2]

End of Paper
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Questions 1 to 3 carry 2 marks each. For eai:h quesllo}!, four options are
given. One of them [s the corréct answer. Make your cholcs (1, 2, 3 or 4)
and write your answer(1, 2, 3 or4) In the bracket { ) provided.

(6 marks)
1. Whatis the difference between 748 and 85277

)17
() ea7s 725};{
(9 8221 ~ 148
@ 18 11
{4 - 1047

(3

Questions 4 to 8 canry 2 marks each. Show your working clearly and write
your answers In the spaces provided. For questions which require units, glve
your answers In the units stated. (10 marks)

4. (a) Wit five thousand and sixty:five in numerals,

Ans: (a) 5- 065

(b) Use all the digits fo form the gmallest 4-digit odd number.
@

dd Ans: (b) |265

5. * Study the number pattern carefully.

What Is the mlssing humber?. -

943, 1043, , 1243, 1343, 1443
A [ N A

- 4100 g 100 4100 +100

Ans: ___ ” 43
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Arrangs the following numbers In Increasing ordsr.

3164 3601 3146

Y.
(1) 3601, 3164, 3148 3144

300 | (greatest)
3 !@é {smallest)

{2) 8801, 3146, 3164
(3) 3164, 3146, 3601
(4) 3146, 3164, 3601

(4

Sasha spent $250 at ABC departmental store.
She bought a m{crawave oven, soma mugs and sore plates.
She boug Itfewer plates than mus.

How m g/ pRies did she buy?

T
e

Microwave Oven Mu§ Plate

@2;50.— &150 = $100 (for fnugs and plaks,

(1}
@ Using guess and thock rethod,
@ Voo E[Fo e Thmt
Muqi me\; platts ammo# m chuk
@ SXU4 (X)) PrioSRBRO %
e ; pr o 2
Note: 15 eacerto |10 [P0 2 [Do®lpyand 4 =)
work with — = =
puitiples of 10 -
2
6. A shirt costs $42,
A cap costs $19.40 less than the shirt.
How much does the cap cost?
. $42 Y
.. £ - % 2.4
Shll“}' [ i I ﬁ#- 0
c -19-40
ap i 22.60
 Sm———— A S 260
7 .
C42-19.40 = 2260
The cap tosts $29.460.
Ansi$ 22.60
7. An adultticket to a thema park costs 525;'_%0, .
. A chlld ticket costs $11.20,
How much does a famity of 2 adulf§ and 1.child pay?
2550
2adults @ 25.50 + 25.50 = 5l.00 t25-50
51-
2 adults and | child = 51-00+11.20 = 62.20 90
5100
. R A“ . E“IQ‘ZZD +11.20
b fanily of 2 aduits aud | .child pay £62.20 - TR
Ang: § 62:20




All, Bala, Chang and Dayl went to the zoo,

All of them wanted fo ride on a pony but the pany could only take
2 of them at a time.

Haw many diffarent ways could they palr up for the'ride?

B &
Y g C—D
N, v
D
342 +i‘i-=’“é.,

For question 8, show your working clearly and write your answers in the
spaces provided, The number of marks avallable Is shown In brackets [ Jat*

the end of each question or part-question,

(4 marks)
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9.  Thedifference batween two numbers Is 628,
The greater number Is 714.

(2) YWhat s the smaller nurber?

L VPR
O o |

Smaller E:::}(—z-z-;?

"

T~ 625 = 39

“The. smaller number is 89
89

Ans: (a)

{b}) Whatls the sum of the two numbers?

7
3

preater | emaller |
N2 N

iy T8 T

N~ T AN

114+ 89 = 803

The sum of e Ywo numbers i 803 -

Ans:  (b) 803

“Hrik
~42S
9

12

iy

+
|2
.-Q

2

End of Paper





